Bellwork  Alg 2A  Friday, February 10, 2017
1. Write the equation of the quadratic described below:
Opens down, 4 times taller than the Parent Function, moved 8 units right

2. State the coordmates of the vertex, the equation for the Line of Symmetry, and the y-intercept of this

quadratic: y = ——(x+ 6 )2
Vertex: EQ of LOS: y-int:

Graph each quadratic using at least five points.
3. y=3(x+2)*-

y A v i

4

4. y=-2x-4)2+1

%Y
* ¥

Bellwork  Alg 2A  Friday, February '10 201 7
1. Write the equation of the quadratic described below: - : :
Opens -down, 4 times taller than the Parent Function, moved 8 units’ r:ght

-\ ./4/7 S,V-L’Eli$

-H (x-9)"
. 2. State the.coordinates of the ve’ﬁex the equation for the Line of Symmetry, and the y-intercept of this
2 642 _
?_u_adratlc y=-3 (x+‘ s )-—13 g 2 +é>7_ B
\(ertex. (, £s EQofLOS: X= Z y-int: 3973
'é \ "9)> ; e i&z) ’,}
Graph each quadratic using at least give points. 25
3. y=3(x+2)>-5 verkex (%% 4. y=-2x-4)2+1 = -24 _
2ir e v -2 dor lup 2
y 3% Tl :
1 :v‘f opnS> yA i - 32.‘
: “p ] =25 zT
;é / -‘ =( -39
1] i z2s
[T ~
\L T - \ -
bl X 1 X
N § \
\ [ / |
\ I i ‘
: N
< \
! vendex (Y1) 4 i__’, —
I [ g Lo %=1 ' 1

Z

| ] 2
open? down ly — —\]9

= .

._}‘( - —!‘L 2% Ta\lev



